
Grille Installation Instruction 
 

Part# GR01GEI28T&H Application For 2010-2015 Cadillac SRX 

 

 

 

 

Page 1 of 2 

 

The instruction here is for your reference only. You may need to bend the billet grille bars or tabs a little bit 

to adjust to fit. We strongly recommend the professional installer for best result.  

Please use masking tape and tape the OEM grille shell along the edge to protect your vehicle during 

installation. 

We are not responsible for any damage caused by the installation. Thank you for choosing our product! 

Rev. 180401 

Parts List 

Item Part Name QTY Description Item Part Name QTY Description 

1 Mesh Grille       1  Stainless steel 5 Logo Plate 1  

2 Top Plate       1  / 6 Christmas tree Clip 6  

3 Lock Nut      10 6-32 7 Washer 4 6-32 

4 Zip Tie       2 /     

 
Install Notes:  Overlay                Replacement                 Drill                     Cut                            

Installation 

 
 
1. Identify the grille & hardware with 
parts list. 

           

 
2. Remove 6 clips along the top of the 
factory grille. 

 
 
 
 
                 
 
 
 
 
3. Lift the plastic flap and move it out the 
way. 

 

 
4. Remove 11 bolts (3 on each side 
and 3 in the center). 

 
 
 
 
 
 
 
 
 
 

 
5. Unclip the hose that is on the driver 
side. 

 
 
 
 
 
 
 
 
 
 
 
6. Remove a clip on each side of the 
factory grille shell. 
 

 
 
 
 
 
 
 
 
 
 
7. Remove the top plate (lift the grill 
upwards to remove the plate). 

 

 
8. There will be a clip on the side 
behind the factory grille, unclip it. 

 
 
 
 
 
 
 
 
 
 
9.Unclip clips from around the factory 
grill.(push grille forward to unclip carefully) 

× 

 

√ 
 

× 

 
× 

 



Grille Installation Instruction 
 

Part# GR01GEI28T&H Application For 2010-2015 Cadillac SRX 

 

 

 

 

Page 2 of 2 

 

The instruction here is for your reference only. You may need to bend the billet grille bars or tabs a little bit 

to adjust to fit. We strongly recommend the professional installer for best result.  

Please use masking tape and tape the OEM grille shell along the edge to protect your vehicle during 

installation. 

We are not responsible for any damage caused by the installation. Thank you for choosing our product! 

Rev. 180401 

 
10. Note: There will be a hose 
depending on your vehicle make 
that will run along the bottom of the 
factory grille. Unclip to move hose. 
Use the zip ties to tie the hose to the 
metal rods in front of the radiator. 

 
 
 
 
 
 
 
 
 
11. With a fishing line or anything 
thin ,Remove the badge from the grille 
carefully. 

 
12. Break off the tabs that are on the 
badge. 

 

 
13. Place the logo plate on the 
mesh grille. From behind the grille, 
place the 6-32 washers and 6-32 
nylon lock nuts on the threaded 
studs. 

 

 
 14. Place double-sided tape on the 
Cadillac Badges and Stick them onto 
the logo plate. 

 

 
15. Place the top plate on the mesh grille 
and thread 6-32 lock nuts. 

 

16. Place the mesh grille onto the 
factory grille shell. 

17. Place Christmas Tree Clips on the 
brackets along the bottom of the mesh 
grille. 

18. Re-insert the factory top plate 
underneath the top plate on the mesh 
grille shown in Fig.6. 
 
 

 
19. Re-install the factory bolts on 
the top plate. 

20. Installation completed!!!  

 


